fmmm AT B S AN EX

R REETRESERGAEEEFARERRETE--BR: S-03 ((XKRIEE 3F->3F)

P015-01-#88: 3F, #488%: ST1, f2&: P015-01 [C:+344,6:+839] , #E: 200 cm, #k=: 15.48, #&’R: 26, BH & 31,
# & 938.041 cm
BRI 938.04=F11R5%(15.48*15.48+26*26)*[F& 2]31

#4 LinRE-EEEEE | #4 LiRIRE-EE R [ A= (938.04++[EF RELAS52) [H 220.09
B B4](Int(200/10)+1)/100= 220.09 M
#3 LinRAf-CEEEA | 43 LinR-% 8 S E A= [ 556 (200+ L A +E #Ldh 144.09
) +A1](15+13.7)*1)*[HE B](Int((938.041/15)+1)/100= 144.09 M
#4 TImARE-SEEmE | (938.04++[BH RELA]55"2) [HF#](Int(200/10)+1)/100 220.09
#3 TIRBhA-SREE @A | (35 (200+[HE R+ E#Ldh+A1](15+13.7)1)* 144.09
[HEB](Int((938.041/15)+1)/100= 144.09 M
ETHEE
B R (&) = 938.04*200/10000= 18.76 M2
&R (S 48) = 200%15.48*31/10000= 9.60 M2
18 R (38 -54 8538 )= 938.04*15*1/10000= 1.41 M2
1R AR (B 25 18- £ 2838) = (15.48+26/2)*31*1/10000= 0.62 M2

HERR_/NET = 18.76+9.60+1.41+0.62+0.00= 30.39 M2

RCE %

RC(FAR) = 938.041*200*15/1000000= 2.814 M3
RC(P&#) = (15.48*26/2)*200*31/1000000= 1.248 M3

RC_/MEt = 2.814+1.248+0.000= 4.062 M3

BEAEEETE:
+/- $REH:
#4 : (120*938.0/15*1*2)/100= 150.08 M
#5 :(938.02)/100= 18.76 M
#4 : (938.0*1)/100= 9.38 M

o

WA ERR:
#3=288.178 M (288.178 M*0.560/1000= 0.1614 T)
#4=599.637 M (599.637 M*0.994/1000= 0.5960 T)
#5=57.640 M (57.640 M*1.560/1000= 0.0899 T)

#5 ((400+24*2=-l-|_1 9*2)*4*2)/100= 38.88 M

A/ NET =0.8473 T
AR/ = 30.39 M2
B /T = 4.062 M3
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